‘I_

257} 9k
o 4 Antelz}y

0

.

Kol
f=)

@30 7}A]

@ 15 7}H4]

@ 11 7HA]

® 45 7HA]

@ 40 7HA]

‘5x6

30 (7H1)




2 184 AB = BO ©]il zOAB = 20° € W, ,COD 9] 27|&
-stofzt,

iy
o

\VARR 4
0x
i

60°

/OBC = /OCB = 40° °]22 /BOC = 100°
£COD = 180° — (20° + 100°) = 60°




e 284 " 1= aABC o] ol aABC o] 39 Zo|7t
40cm ©]a2L AABC 9] W o]7} 60cm® & wf, W3¢ o] ¥ &2 dol=?

A

~SN

@ 1lem @ 2cm (@)3(:111 @ 4cm ® 5cm

1
3 X rx 40 = 60
webA §E2]59] dol= 3cm o]t




AABC 7t Slth. A ©f ol 52417 BC o 4=
BM ¢ o,zA ©] 2717
A
o
B D C
@ 15° @ 30° ® 45° @60°

)
k)
ol
K
2
=

® 90°

B

AAMD = ABMD(SASE%)

(MBD = zx&tal SPH /ADC = 2/x
AADC oA, 3/x 4+ 90° = 180°, £x = 30°
. LA =60°




5. TS 2819 AABCOA M2 AABC 9] £JA0]1, AAMC 9] = 9]
Zo]7t 9 uf, BC o] ZolE F5tozt,

ve!
-
Q

AAMC 9] E89] doj7t 90]a, AAMC7} A7 g ol B
St H O] o= 30|tk

H M2 AABC 9| QJAlo]lB g

MA =MB =MC =3

BC = BM + MCo]|2& BC = 6°]t}.




4 o] 7tE o] ofw iyt S| ZvZk o ¥k 1, 2 94 3, 4 945, 6 7 7
olghe A7t A Qlrt. o] 4 F2] 7t=E 3 E& Holsol 4 At
g s Hel Ao 8 FeruY

@® 48 7H4] @ 120 7HA] @ 240 7}H4]

03} 1 0] 231 7kEofAf 1 o] 2 7

Z])

031 0] A3 ZEEOA 0 o] Lh2 7% 1 3x3x2x1x23 = 144(7}
;q)

(22 22293, 495, 67 77tE7F FH o A= B9)

whebA 4 A A7t HEAE B9 = 192 4 144 =
336(7FA]) ol

3% 1 4x3x2x1x23 = 192(7}




